
SAP ABAP table TOIGS2 {TD Intransit Posting Group}

TOIGS2

CLIENT [CLNT (3)]

INPGP [CHAR (2)]

BWARC [CHAR (3)]

BWARC_R [CHAR (3)]

BWAPT [CHAR (3)]

BWAPT_R [CHAR (3)]

BWAMT [CHAR (3)]

BWAMT_R [CHAR (3)]

BWASL [CHAR (3)]

BWASL_R [CHAR (3)]

BWAGN [CHAR (3)]

BWAGN_T [CHAR (3)]

BWALS [CHAR (3)]

BWALS_T [CHAR (3)]

T000

MANDT [CLNT (3)]

 TOIGS2-CLIENT = T000-MANDT 
0..N

0..N

T156

MANDT [CLNT (3)]

BWART [CHAR (3)]

 TOIGS2-BWAGN = T156-BWART 

0..N

0..N  TOIGS2-BWAGN_T = T156-BWART 

0..N

0..N  TOIGS2-BWALS = T156-BWART 

0..N

0..N  TOIGS2-BWALS_T = T156-BWART 

0..N

0..N
 TOIGS2-BWAMT = T156-BWART 

0..N0..N  TOIGS2-BWAMT_R = T156-BWART 

0..N
0..N

 TOIGS2-BWAPT = T156-BWART 
0..N0..N

 TOIGS2-BWAPT_R = T156-BWART 0..N0..N

 TOIGS2-BWARC = T156-BWART 

0..N
0..N

 TOIGS2-BWARC_R = T156-BWART 

0..N

0..N

 TOIGS2-BWASL = T156-BWART 

0..N

0..N

 TOIGS2-BWASL_R = T156-BWART 

0..N

0..N


